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BEARE THeFEEMSERBERREARE

& # B - IR B ¥ B C & @ #E
B[R 9,116, 413
EHES] 9,116, 413
REBIEREERE 9,116, 413
RBIEREERE 8,839, 900
HitEtE 145,400
1 E&EEtE 1.00 145, 400 145, 400
=
EHEI 1, 466, 200
2 FIF - BREHHRTE 1.00 221,100 221,100
3 TEEMEERNT 1.00 195, 000 195, 000
4 BERREHERE 1.00 468, 000 468, 000
5 MELERIRILDHIE 1.00 2175, 000 275, 000
r—2
6 HBWR T EDE 1.00 307, 100 307, 100
r—2
G T D 370, 800
T hEEER X DML 2.00 185, 400 370, 800
r—2
REMORE 4,807, 000
8 kFIRES L UVEFKEDORERDR 2.00 394, 200 788, 400
=5
r—2
9 BRAREBOMBELERNT 2.00 2,009, 300 4,018, 600
r—2




BEARE

THeFEEMSERBERREARE

% i - R E LY g fi & = m =
BEETOEE 868, 400
10 BERROEE BENEAE 2.00 129, 200 258, 400
fr—2
11 #EpR0EE BETRAE 2.00 136, 000 272,000
fr—2
12 BERROEE BEMLTILE - RE 2.00 169, 000 338, 000
fr—2
RE R 238, 400
13 REfEA 4.00 59, 600 238, 400
s
R 255, 100
14 BEBER 1.00 235, 900 235, 900
S
15 APIFMRR SRR 1.00 19,200 19,200
S
13l - | 481, 200
16 15 - HE 4.00 121,800 481, 200
E
BE 201, 400
17 BE 1.00 201, 400 201, 400
S
EEER 276,513
SHEARE 81,513
18 BHEMRE 1.00 81,513 81,513
S
R 150, 000




BEARE THeFEEMSERBERREARE

% [ RE - BRTE Bify % B B ff ® # wmE
19 £BRER 1.00 150, 000 150, 000
=
BIREE 45,000
20 lETHEE 1.00 45, 000 45,000
=




iR THeFETHEBRB IR RS

% i B - KR B % B B * & wmE
BRI 8,839,900 + 276,513 9,116,413
EEAGE 8, 839, 900
EERE 276,513
Z Dt R 8,839,900 x 53.85% (35% + (1 — 35%) ) 4,760, 286
EBRE 9,116,413 + 4,760, 286 13,876, 699
—REERE 13,876,699 x 53.85% ( 35% + (1 — 35%) ) — 9,301 7, 463, 301
ST 13,876,699 + 7, 463, 301 21, 340, 000
EEREALE 21,340,000 x 10.00% 2,134,000
XBEZEH 21,340,000 + 2,134,000 23, 474,000




Rz L/ i — SHCEETHEBRBERRH LS

BS5:1
& BEETE X%y
E4 (i1 HE - ikt B H =2 B ® %5 = 5 &
F AT AR (BREH)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57,000
AR (B)
A 0.50 47, 200. 00 23, 600
& &t %8N - 1.00= 145, 400. 00 145, 400
B5:2
2% FIA - BREHHRE ThaL Y
E4 (i1 HE - ikt B H =2 B ® %5 = 5 &
F AT AR (BREH)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
AR (B)
A 1.50 47, 200. 00 70, 800
& &t e - 1.00tths= 221, 100. 00 221,100
‘5 :3
2 T EEHBEEN ThaH Y
E4 (i1 - ikt B H =2 B ® %5 = i &
F AT AR (BREH)
A 0.50 64, 800. 00 32,400
AR (A)
A 1.00 57, 000. 00 57,000
AR (C)
A 1.00 38, 400. 00 38, 400
BT g
A 2.00 33, 600. 00 67, 200
& i e - 1.00tths= 195, 000. 00 195, 000




Rz L/ i — SHCEETHEBRBERRH LS

BE 4
2% BEREEHET ThaH Y
E4 (i1 HE - ikt B H =2 B ® %5 = 5 &
F AT AR (BREH)
A 1.50 64, 800. 00 97,200
AR (A)
A 2.00 57, 000. 00 114, 000
AR (B)
A 3.00 47, 200. 00 141, 600
AR (C)
A 3.00 38, 400. 00 115, 200
& &t e - 1. 00t = 468, 000. 00 468, 000
‘S5 :5
B hERERRIEDHIE 1r—24Y
E4 (i1 - ikt B H =2 B ® %5 = i &
F AT AR (BREH)
A 0.50 64, 800. 00 32,400
AR (A)
A 1.00 57, 000. 00 57,000
AR (B)
A 2.00 47, 200. 00 94, 400
AR (C)
A 1.50 38, 400. 00 57, 600
BT g
A 1.00 33, 600. 00 33, 600
& &t EZEEH - 1.005—R 275, 000. 00 275, 000




Rz L/ i — SHCEETHEBRBERRH LS

‘S :6
BT HBRRBITEOKE 15—2LY
E4 (i1 HE - ikt B H =2 B ® %5 = 5 &
AR (A)
A 1.50 57, 000. 00 85, 500
AR (B)
A 2.00 47, 200. 00 94, 400
AR (C)
A 2.00 38, 400. 00 76, 800
BT g
A 1.50 33, 600. 00 50, 400
& &t YEZEEH - 1.005—R 307, 100. 00 307, 100
517
&5 EEERKOHE 1r—24Y
E4 (i1 - ikt B H =2 B ® %5 = i &
AR (A)
A 1.00 57, 000. 00 57,000
AR (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 1.50 38, 400. 00 57, 600
& F YEZEEH - 1.005—R 185, 400. 00 185, 400
BS5:8
2 KERES S UEBREOREHEDOERE 1r—24Y
E4 (i1 g - ikt B H =2 B ® %5 = i &
F AT AR (BREH)
A 0.50 64, 800. 00 32,400
AR (A)
A 1.00 57, 000. 00 57,000
AR (B)
A 3.00 47, 200. 00 141, 600
AR (C)
A 2.50 38, 400. 00 96, 000
BT g
A 2.00 33, 600. 00 67, 200
& i YEZEEH - 1.005—R 394, 200. 00 394, 200




Riizk-fET/\wr—>

THeFETMEERBMRRAES

‘S5 :9
B BRIRED BB R 1r—24Y
E4 (i1 HE - ikt B £ B ) 5 &
F AT AR (BREH)
A 2.50 64, 800. 00 162, 000
AR (A)
A 10. 50 57, 000. 00 598, 500
AR (B)
A 11.00 47, 200. 00 519, 200
AR (C)
A 15.50 38, 400. 00 595, 200
BT g
A 4.00 33, 600. 00 134, 400
& i YEZEEH - 1.005—R 2,009, 300. 00 2,009, 300
5 :10
2% BERA0EE HMEHEET 1r—24Y
E4 (i1 - ikt B £ B ) i &
AR (B)
A 0.50 47, 200. 00 23, 600
AR (C)
A 1.00 38, 400. 00 38, 400
BT g
A 2.00 33, 600. 00 67, 200
& i YEZEEH - 1.005—R 129, 200. 00 129, 200
B5 1
2% BERA0EE HMEIZEET 1r—24y
E4 (i1 - ikt B £ B ) i &
AR (B)
A 1.00 47, 200. 00 47,200
AR (C)
A 1.00 38, 400. 00 38, 400
BT g
A 1.50 33, 600. 00 50, 400
& &t EZEEH - 1.005—R 136, 000. 00 136, 000




Riizk-fET/\wr—>

THeFETMEERBMRRAES

BE 12
2 BERAOEE KREMLLE - &Rt 1r—24Y
E4 (i1 HE - ikt B £ B ) = w =
F AT AR (BREH)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57,000
AR (B)
A 1.00 47, 200. 00 47,200
& &t YEZEEH - 1.005—R 169, 000. 00 169, 000
H5 13
2% . REERK 1Ly
E4 (i1 HE - ikt B £ B ) = w =
AR (B)
A 0.50 47, 200. 00 23, 600
AR (C)
A 0.50 38, 400. 00 19, 200
BT g
A 0.50 33, 600. 00 16, 800
& &t E%ReH - 1. 008 59, 600. 00 59, 600
BS54
2 MEEER X%y
E4 (i1 - ikt B £ B ) = " =
F AT AR (BREH)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
AR (B)
A 1.00 47, 200. 00 47,200
AR (C)
A 1.00 38, 400. 00 38, 400
& &t %8N - 1.00= 235, 900. 00 235, 900




Riizk-fET/\wr—>

THeFETMEERBMRRAES

H5 : 15
& ARARRRERE X5y
& R g - BT B 2 B ) = w &
AR (C)
A 0.50 38, 400. 00 19, 200
& Hi 1EHEED 1,00 19, 200. 00 19, 200
&S : 16
B B - BE H2EP
& R g - BT & B 2 B ) = w &
EZ=3: 116 5]
A 1.00 64, 800. 00 64, 800
BER (A)
A 1.00 57, 000. 00 57,000
& Hi 1EZHED - 1.00[E] 121, 800. 00 121, 800
B5 11
&% B —_—
& R g - BT B 2 B ) = w &
EZ=3: 116 5]
A 1.50 64, 800. 00 97, 200
BER (A)
A 1.00 57, 000. 00 57,000
BER (B)
A 1.00 47, 200. 00 47,200
& Hi 1EHEED 1,00 201, 400. 00 201, 400
H5 18
& R g - BKTE B 2 B ) = w &
EBERALE
= 1.00 81,513.00 81,513
& Hi 1EHEED 1,00 81,513.00 81,513




Riizk-fET/\wr—>

THeFETMEERBMRRAES

H5 19
% R g - BT B 2 B ) w &
EBERRERE
= 1.00 150, 000. 00 150, 000
& Hi 1EHEED 1,00 150, 000. 00 150, 000
H#5:2
2% BIREE IEED
% R g - BT & B 2 B ) w &
BIREE
= 1.00 45, 000. 00 45, 000
& Hi 1EHEED 1. 00X 45, 000. 00 45, 000




